Stoichiometry worksheet 3
Directions:  

On a separate piece of paper:

· predict products or reactants  (Some problems mention one product, but not both)

· write a balanced chemical equation (BCE) 
· state general reaction type

· show all work for calculating the amount asked for
1. 5.2 moles of calcium nitrate solution is mixed with excess solution of sodium carbonate.  How many moles of sodium nitrate are formed?
2. 12.2 grams of zinc react with how many moles of hydrochloric acid (HCl)?
3. 4.5 moles of ethane (C2H6) combusts fully with oxygen producing how many grams of water?
4. 34.5 grams of magnesium phosphide are decomposed forming how many moles of magnesium?
5. 3.8 moles of hot aluminum metal react fully with how many grams of chlorine gas?
6. a solution containing 35.6 grams of dissolved lead (II) nitrate is mixed with an solution of copper (I) sulfate.  How many grams of copper (I) nitrate are formed?
7. 58.9 grams of magnesium are placed in a solution of iron (II) acetate, how many grams of iron are formed.

8. 78.2 grams of propanol (C3H7OH) burn completely with how many grams of oxygen?

9. if 78.1 grams of sodium chloride are formed, how many grams of chlorine did we begin with?

10. if  43.9 grams of manganese are formed, how many grams of manganese (III) bromide initially reacted?
Answers:  

	1
	10.4 moles
	2
	.37 moles

	3
	243 g
	4
	.77 moles

	5
	403 g
	6
	26.9 g

	7
	135 g
	8
	187.6 g

	9
	47.3 g
	10
	235 g


